TRAXON TRAXON Pro*
Washer Pro

Mounting Guide

Dimensions (Nano)

2xP5.2mm /02"

@42mm /17"

N3mm /44"

—

. 5mm/0.2" 98mm/3.9" Cable Length

A

—
—

—
—

64mm /25"
90mm / 3.5

—
[

141mm / 5.6”

—
[

LN
18mm /07" 38mm /33, G79mm /3T

—
]

o
™
£
£
o
S
@18mm /0.7
Dimensions (Micro)
2x@P6.5mm /0.3”
C X
o
~
€
| £
o
©
164mm / 6.5”
142mm / 5.6" 158mm / 6.2” Cable Length
o | =
R < |©
S ~ |~
€ €
: 1
£ ﬁ 19)
& QR
™
o
I , 5
12mm/O5ﬁ ] |~ [12mm /05 104mm / 41" %
111mm / 4.4” E
.
|
—_—— @18mm / 0.7”

www.traxon-ecue.com RAXON TECHNOLOGIES. ALL RIGHTS RESERVED.

08/23 V1.0

Mounting Guide




4 TRAXON TRAXON Pro*

Dimensions (Mini)

‘ ] 2x@7mm/0.3”
o ‘ 1)
LB lo e A8 |
¢M::: J
60mm / 2.4”
164mm / 6.5” M
230mm /9.1 ‘ Cable Length
X
S
~
€
€
©
o
Lt N -
0
45mm /1.8” 12mm / 0.5” A
£
£
o
o
™
L $26.8mm /1.1
Dimensions (Midi)
80mm / 3.1”
[ |
[ 1
Q %
E—1E ]
™ .
@13mm / 0.5”
202mm / 8" Cable Length
262mm /103" _ ,_
- o
% @
3 il
~
€
: \
© 1
™
®
@ " A
55mm /2.2 fﬁmm /06" E
8
™
— $26.8mm /1.1

www.traxon-ecue.com RAXON TECHNOLOGIES. ALL RIGHTS RESERVED.

Mounting Guide 08/23 V1.0




= TRAXON TRAXON Pro®

Dimensions (Maxi)

80mm / 3.1”

a

Q
CE 4T ]

—— 7 zxoon o

212mm / 8.3”

Cable Length
315mm /12.4” ‘ ,‘

375mm /14.8

t
60mm / 2.4” f’l8mm /07"

[

300mm / 11.8”

—— $26.8mm /11"

Mounting (Nano)

Install expansion screws on the fixed surface Fix the bracket

A pair of M4 nuts is needed
(by others)

Fix bracket via two M4 nuts.
The size of the bracket mounting holes determines the size of the (by others)

holes to be punched. Holes on the left and right side for

cable in / out.

Adjust desired angles Tighten the bracket bolts to fix the luminaire to the
desired angle

4mm hex key (by others)

4mm hex key (by others)

Safety wire hole

/_\ The safety wire must be installed to provide secondary protection
to prevent fixtures from falling and injuring people

www.traxon-ecue.com 23 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED.

Mounting Guide




TRAXON TRAXON Pro*

ounting (Micro)

Install expansion screws on the fixed surface Fix the bracket

A pair of M5 nuts is needed
(by others)

Fix bracket via two M5 nuts.

The size of the bracket mounting holes determines the size of the (by others)

holes to be punched. Holes on the left and right side for
cable in / out.

Adjust desired angles Tighten the bracket bolts to fix the luminaire to the
desired angle

6mm hex key (by others)

6mm hex key (by others)

Safety wire hole

e S The safety wire must be installed to provide secondary protection
. to prevent fixtures from falling and injuring people

. o B N N

Mounting (Mini)

Install expansion screws on the fixed surface Fix the bracket

M8 nut (must) and then either
one of the M6 nuts is needed
(by others)

Fix bracket via M8 nut.
Further secure using either
of the M6 holes.

(by others)

The size of the bracket mounting holes determines the size of the
holes to be punched.

Adjust desired angles Tighten the bracket bolts to fix the luminaire to the
5mm hex key (by others) desired angle

The safety wire must be installed to provide secondary protection
to prevent fixtures from falling and injuring people.

www.traxon-ecue.com 3 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED.

Mounting Guide ) 3 V1.0 40of 6




TRAXON

Mounting (Midi)

TRAXON Pro”*

Install expansion screws on the fixed surface

M12 nut (must) and then either
one of the M10 nuts is needed
(by others)

The size of the bracket mounting holes determines the size of the
holes to be punched.

Fix the bracket

Fix bracket via M12 nut.
Further secure using either
of the M10 holes.

(by others)

Adjust desired angles

6mm hex key (by others)

Tighten the bracket bolts to fix the luminaire to the
desired angle

The safety wire must be installed to provide secondary protection
to prevent fixtures from falling and injuring people.

Mounting (Maxi)

Install expansion screws on the fixed surface

M12 nut (must) and then either
one of the M10 nuts is needed.
(by others)

-

T

The size of the bracket mounting holes determines the size of the
holes to be punched.

Fix the bracket

Fix bracket via M12 nut.
Further secure using either
of the M10 holes.

(by others)

Adjust desired angles

JU

-

Tighten the bracket bolts to fix the luminaire to the
desired angle

C The safety wire must be installed to provide secondary protection

www.traxon-ecue.com

Mounting Guide

3 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED.




~-CONNECT TO THE POWER SUPPLY IN ACCORDANCE WITH NATIONAL
REGULATIONS

-THE EXTERNAL FLEXIBLE CABLE OR CORD OF THIS LUMINAIRE CANNOT BE
REPLACED; IF THE CORD IS DAMAGED, THE LUMINAIRE SHALL BE DESTROYED

-THE LIGHT SOURCE OF THIS LUMINAIRE IS NOT REPLACEABLE; WHEN THE
LIGHT SOURCE REACHES ITS END OF LIFE THE WHOLE LUMINAIRE SHALL BE
REPLACED

-INSTALLATION/MAINTENANCE ONLY BY SKILLED PERSONNEL

-DURING OVERHAUL/MAINTENANCE ONLY USE ORIGINAL PARTS

-IF ANY LUMINAIRE IS SUBSEQUENTLY MODIFIED, THE PERSON RESPONSIBLE FOR
THE MODIFICATION SHALL BE CONSIDERED THE MANUFACTURER

-THE MANUFACTURER BEARS NO LIABILITY FOR DAMAGE CAUSED BY
INAPPROPRIATE USE OR APPLICATION

-NETZANSCHLUSS BITTE NACH DEN LANDERSPEZIFISCHEN
ERRICHTUNGSBESTIMMUNGEN TATIGEN

-FALLS DAS EXTERNE FLEXIBLE KABEL DIESER LEUCHTE BESCHADIGT IST, DARF
ES AUSSCHLIESSSLICH ERSETZT WERDEN DURCH DEN HERSTELLER ODER EINER
AHNLICH QUALIFIZIERTEN PERSON, UM GEFAHRDUNGEN ZU VERMEIDEN

-MONTAGE/WARTUNG NUR DURCH FACHKRAFTE

-BEI INSTANDSETZUNG/INSTANDHALTUNG NUR ORIGINALTEILE VERWENDEN

-WERDEN NACHTRAGLICH ANDERUNGEN AN LEUCHTEN VORGENOMMEN, SO GILT
DERJENIGE ALS HERSTELLER, DER DIESE ANDERUNG VORNIMMT

-DER HERSTELLER UBERNIMMT KEINE HAFTUNG FUR SCHADEN, DIE DURCH
UNSACHGEMASSEN EINSATZ ENTSTEHEN

~CONNEXION A L'ALIMENTATION CONFORMEMENT AUX NORMES EN VIGUEUR

-S| LE CABLE EXTERIEUR SOUPLE OU LE CORDON DE CE LUMINAIRE EST
ENDOMMAGE, IL DOIT ETRE REMPLACE EXCLUSIVEMENT PAR LE FABRICANT,
OU TOUTE PERSONNE DE QUALIFICATION EQUIVALENTE, CECI AFIN D'EVITER
TOUT RISQUE

-LES OPERATIONS D'INSTALLATION ET D’'ENTRETIEN DOIVENT ETRE
EFFECTUEES EXCLUSIVEMENT PAR DES PERSONNES QUALIFIEES

-DANS LE CAS D'UNE REMISE EN ETAT, UTILISER UNIQUEMENT DES
COMPOSANTS D'ORIGINE

~-TOUTES MODIFICATIONS APPORTEES AU LUMINAIRE SE FERONT SOUS LA
RESPONSABILITE EXCLUSIVE DE CELUI QUI LES EFFECTUE

~LE FABRICANT DECLINE TOUTE RESPONSABILITE RESULTANT D'UN MISE EN
OEUVRE INAPPROPRIEE DU PRODUIT

-EFFETTUARE L'ALLACCIAMENTO ALLA RETE SECONDO LE NORME DI INSTALLAZIONE
VIGENTI NEL PAESE D'UTILIZZO

-SE IL CAVO FLESSIBILE ESTERNO DI QUESTO APPARECCHIO D'ILLUMINAZIONE

E DANNEGGIATO, PER EVITARE PERICOLI ESSO PUO ESSERE SOSTITUITO
ESCLUSIVAMENTE DAL PRODUTTORE O DA PERSONA DOTATA DI ANALOGA QUALIFICA

-MONTAGGIO/MANUTENZIONE SOLO PER MEZZO DI PERSONALE SPECIALIZZATO

-PER RIPARAZIONE/MANUTENZIONE IMPIEGARE SOLO PARTI ORIGINALI

-IL COSTRUTTORE SI RISERVA IL DIRITTO DI APPORTARE SENZA PREAVVISO MODIFICHE
DI PESO, DIMENSIONI E CARATTERISTICHE TECHNICHE

-IL COSTRUTTORE NON E RESPONSABILE PER DANNI DERIVANTI DA MODIFICHE
REALIZZATE DA TERZI E DA UNA INSTALLAZIONE NON CORRETTA

-LA CONEXION A RED DEBE DE REALIZARSE SIGUIENDO LAS NORMAS
ESPECIFICAS DE CADA PA[SES

-EN CASO DE QUE EL CABLE EXTERNO FLEXIBLE DE ESTA LUMINARIA ESTE
DARNADO SOLO PUEDE REEMPLAZARSE POR EL FABRICANTE O UNA PERSONA
SIMILAR CUALIFICADA, PARA EVITAR PELIGROS.

-EL MONTAJE Y MANTEMINIENTO LO EFECTUARAN UNICAMENTE LOS TECNICOS
ESPECIALIZADOS

-PARA REPARACIONES HAN DE EMPLEARSE SOLO PIEZAS ORIGINALES DE
RECAMBIO

-RESERVADO EL DERECHO DE MODIFICACION DE DIMENSIONES, PESOS Y
CARACTERISTICAS TECNICAS, SIN PREVIO AVISO

-EL FABRICANTE NO ASSUME RESPONSABILIDAD POR MODIFICACIONES
REALIZADAS POR TERCEROS, NIP OR INSTALACION INCORRECTA

-LIGAR A FONTE DE ALIMENTAGAO, DE ACORDO COM A REGULAMENTAGAO NACIONAL

~CASO O CABO EXTERNO E FLEX/VEL DA LUMINARIA SE DANIFIQUE, DEVE SER
SUBSTITUIDO PELO FABRICANTE OU PESSOA IGUALMENTE QUALIFICADA, PARA
EVITAR SITUACOES DE PERIGO

~-MONTAGEM/MANUTENGAO EFECTUADA UNICAMENTE POR PESSOAL TECNICO
ESPECIALIZADO

~UTILIZAR SOMENTE PECAS ORIGINAIS DO FABRICANTE

-O FABRICANTE NAO SE RESPONSABILIZA POR DANOS RESULTANTES DA INADEQUADA
UTILIZAGAO DOS MATERIAIS

—-HZYNAEZH ME THN MAPOXH PEYMATOZXZ NA FINETAI ZYM®QNA ME TIZ
EONIKEZ NMPOAIATPADEZ.

—ZE MEPINTQZH MOY TO EZQTEPIKO EYKAMNTO KAAQAIO AYTOY TOY
PQTIZTIKOY EINAI KATEZTPAMMENO, MPEMEI NA ANTIKATAZTAGEI
ANOKAEIZTIKA KAl MONO AMNO TON KATAXKEYAZTH H AMO AAAO
EZOYZIOAOTHMENO ATOMO, A THN AMO®YTH KINAYNQN.

—-TOMOGETHZH/ZYNTHPHZH MONO ANO HAEKTPOAOTO.

—KATA THN EMNIZKEYH/AIATHPHZH XPHZIMOMNOIEITE TNHZIA
ANTAAANAKTIKA MONO.

~-AANSLUITEN OP HET LICHTNET, CONFORM DE NATIONALE REGELGEVING

-ALS HET EXTERNE FLEXIBELE SNOER VAN DEZE ARMATUUR BESCHADIGD IS, MAG
DIT UITSLUITEND WORDEN VERVANGEN DOOR DE FABRIKANT OF EEN ANDERE
GEKWALIFICEERDE PERSOON, OM RISICO’S TE VOORKOMEN

-MONTAGE/SERVICE ALLEEN DOOR VAKKUNDIG PERSONEEL

-BIJ INBEDRIJFSTELLEN/ONDERHOUD ALLEEN ORIGINELE ONDERDELEN GEBRUIKEN

~-NATANSLUTNING SKALL SKE ENLIGT NATIONELLA BESTAMMELSER

-AR DEN EXTERNA FLEXIBLA SLADDEN PA LAMPAN SKADAD, FAR ENDAST
TILLVERKAREN ELLER EN ANNAN PERSON MED LIKNANDE KVALIFIKATIONER
BYTA UT DENNA, FOR ATT UNDVIKA FAROR.

~-MONTERING AKOTSEL ENDAAT AV FACKFOLK

-ANVAND BARA ORIGINALDELAR VID IGANGSATTNING/UNDERHALL

-KOBLE TIL STROMFORSYNINGEN | HENHOLD TIL NASJONALE BESTEMMELSER.

-HVIS DEN EKSTERNE OG FLEKSIBLE KABELEN TIL DENNE LAMPEN ER SKADET, SA MA
DEN KUN SKIFTES UT AV PRODUSENTEN ELLER EN LIKEVERDIG KVALISERT PERSON,
FOR AT SKADER UNNGAS

-MONTERES KUN AV FAGPERONELL

-VED FEILRETTING : BRUK KUN ORGINALDELER.

~PRIPOJENI K SITOVEMU NAPET({ DLE PLATNYCH NARODNICH NOREM

-POKUD JE EXTERN[ PRUZNY KABEL TOHOTO SVITIDLA POSKOZEN, SMI JEHO
VYMENU PROVEST POUZE VYROBCE NEBO PODOBNE KVALIFIKOVANA OSOBA,
ABY NEDOSLO K ZADNEMU OHROZENT

-MONTAZ A UDRZBA MUZE BYT PROVADENA VYHRADNE ODBORNOU OSOBOU

-PRI UDRZBE NEBO OPRAVE MUSI BYT POUZITY JEN ORIGINALNI NAHRADNI
DiLY

-BbINONHUTbL NOAKNKYEHWE K CETW B COOTBETCTBWUWN C MPUHATBIMWU B
OAHHOW CTPAHE MPABUMAMW MOHTAXA.

—-B CNYYAE NOBPEXAOEHWA BHEWHEIO TMBEKOI0O KABENA 3TOro
CBETUNbHUKA, UTOBbl MCKNIOYUTb PUCKUN, OH JONXEH BblTb
3AMEHEH TOJIbKO M3TOTOBUTENEM UMW NTNLOM, MMEIOWUM TAKYIO XE
KBANN®UKALMIO.

-NPW PEMOHTE NPUMEHATb TONBbKO TEXE CAMbBIE YACTWU.

—~MOHTAX/OBCNYXWUBAHWE TONBKO CNEUNANTNCTAMMU.

~CSATLAKOZTASSA A TAPEGYSEGBE A HELYI ELO/RASOKNAK MEGFELELOEN

-HA EZEN LAMPAK HAJLITHATO/RUGALMAS KABELEI MEGSERULNEK, AKKOR
AZOK KIZAROLAG CSAK A GYARTO VAGY HASONLOAN KVALIFIKALT SZEMELY
ALTAL CSERELHETOK KI, HOGY ELKERULJUK A BALESETEKET

-A SZERELEST/KARBANTARTAST CSAK SZAKSZEMELYZET VEGEZHETI

-UZEMBEHELYEZESNEL/KARBANTARTASNAL CSAK EREDETI ALKATRESZEK
HASZNALHATOK

-ZASILANIE NALEZY DOtACZYC ZGODNIE Z WYMAGANIAMI ODPOWIEDNICH NORM

-W PRZYPADKU USZKODZENIA PRZEWODU ZASILAJACEGO NALEZY GO WYMIENIC
NA NOWY. WYMIANA PRZEWODU MOZE BYE WYKONANA JEDYNIE PRZEZ
WYKWALIFIKOWANEGO ELEKTRYKA

-MONTAZ/KONSERWACJA TYLKO PRZEZ FACHOWY PERSONAL

-DLA NAPRAWY/BIEZACEJ EKSPLOATACUJI STOSOWAC TYLKO ORYGINALNE CZESC\
ZAMIENNE

-ZAPOJUTE DO EL. PRIVODU PODLA PREDPISANYCH NORIEM

-AK JE EXTERNY PRUZNY KABEL TOHTO SVIETIDLA POSKODENY, SMIE BYT
NAHRADENY VYLUCNE VYROBCOM ALEBO PODOBNE KVALIFIKOVANOU
0SOBOU, ABY SA ZABRANILO OHROZENIU

-MONTAZO/VZDRZEVANJE LAHKO 1ZVR&I LE USTREZNO USPOSOBLJENA OSEBA

-PRI POPRAVILU/VZDRZEVALNIH DELIH SE LAHKO UPORABLJAJO SAMO
ORIGINALNI DELI

-V KOLIKOR SE NA SVETILKAH NAKNADNO IZVEDEJO SPREMEMBE, SE ZA
PROIZVAJALCA SVETILKE SMATRA TISTI, KI JE IZVEDEL SPREMEMBO

~-PROIZVAJALEC NE JAMCI ZA SKODO, KI BI NASTALA ZARADI NEPRAVILNE
UPORABE

-SEBEKE BAGLANTISINI LUTFEN ULKEYE ©ZGU KURULUM KURALLARI CERCEVESINDE
YAPINIZ

-AVIZENIN [LUMINAIRE] HARICI ESNEK KABLOSUNUN HASAR GORMESI DURUMUNDA,
TEHLIKELERDEN KAGINMAK UZERE BU SADECE URETICI TARAFINDAN VEYA BENZERI
VASIFLI KISILER TARAFINDAN DEGISTIRILEBILIR

-MONTAJ VE BAKIM SADECE YETKILI PERONEL TARAFINDAN YAPILMALIDIR.

-BAKIMDA SADECE ORJINAL PARCALAR KULLANIMALIDIR

~MOLIMO IZVRSITE MREZNI PRIKLJUSAK PREMA SPECIFIEGNIM NACIONALNIM
ODREDBAMA O NJEGOVOM IZVRSENJU

~UKOLIKO JE EKSTERNI, FLEKSIBILNI KABEL TE SVJETILJKE OSTECEN,
ZAMJENA ISTOG JE DOZVOLJENA ISKLJUCIVO PROIZVOBAGU ILI SLIENOJ
KVALIFICIRANOJ OSOBI, KAKO Bl SE IZBJEGLE OPASNOSTI

~-MONTAZU/ODRZAVANJE MORA VREITI ODGOVARAJUCE OSPOSOBLEJENA
0SOBA

-PRI POPRAVKU/ODRZAVANJU KORISTITI SAMO ORIGINALNE DIJELOVE

~UKOLIKO SE NA SVJETILJKAMA NAKNADNO VRSE PROMJENE, ZA PROIZVODAGA
SVJETILJKE SE SMATRA TAJ KOJI JE PROMJENE IZVRS10

~-PROIZVODAG NE GARANTUJE ZA STETU KOJA Bl MOGLA NASTATI USLED
NEPRAVILNE UPOTREBE

~-MOLIMO DA MREZNI PRIKLJUGAK PROVEDETE PREMA SPECIFIENIM NACIONALNIM
ODREDBAMA O NJEGOVOM PROVODENJU

~AKO JE EKSTERNI| FLEKSIBILNI KABAL OVE SVETILJKE OSTEGEN, NJEGA SME DA
ZAMENI ISKLJUGIVO PROIZVOBDAGS ILI NEKO SLIEGNO KVALIFIKOVANO LICE, DA Bl SE
IZBEGLA UGROZAVANJA

~-MONTAZU/ODRZA VANJE MOZE DA OBAVI SAMO STRUCNO OSPOSOBLJENA OSOBA

~-PRI POPRAVLJANJU/ODRZAVANJU UPOTREBLJAVATI SAMO ORIGINALNE DELOVE

~UKOLIKO SE NA SVETILKAMA NAKNADNO URADE IZMENE, ZA PROIZVADAGA SVETILKE
CE SE SMATRATI ONAJ KO IZMENE 1ZVRSI

~-PROIZVADACG NE GARANTUJE ZA STETU KOJA Bl MOGLA NASTATI USLED NEPRAVILNE
UPOTREBE

. TRAXON

TRA=ON | elCue

www.traxon-ecue.com ©2023 TRAXON TECHNOLOGIES. ALL RIGHTS RESERVED

Mounting Guide 08/23 V1.0 6 of 6




